SHEET (4)
WLELDING

1 Two plates are joined together by means of fillet welds as shown in Fig. & .\ The leg
dimension of the welds is 10 mm and the permissible shear stress at the throat
cross-section is 75 N/mm? . De:ermine the length of each weld.

(Ans. 47.15 mm)
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b Abmd:et,asshowanig é{leweldedbaplate The welds have the same size,

<7ndndth§ pmmsslble force per mm of the mld-lengm is 1 kN. Calculate the lengths
randd -

(Ans. 40 and 80 mm)




"3 A welded connection of steei plates, as shown in Fig.4.3 , is subjected to an eccentric
10kN |
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force of 10 kN. Determine the throat dimension of the weld if the permissibie shear
siress is limited to 95 N/mm? . Assume static conditions.
(Ans. 8.59 mm)

100
4 Asolid circular shaft, 25 mm in diameter, is welded
tnasupportbymeansofaﬁllet weld as shown in o :
Fig. 44 Determine the leg dimension of the weld
,in o

5 kN

if the permissible shear stress is 95 N/mm? .
(Ans. 7.64 mm)
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